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20 21 22
(A) 4,122,492 4,049,126 4,155,597
155 140 140
4,108,009 4,036,053 4,143,187
(B) 4,184,753 4,041,636 4,098,791
4,111,701 3,975,107 4,039,485
4,111,701 3,975,107 4,039,485
411,441 374,197 330,392
73,052 66,504 59,306
3,300 6,059 6,022
24,599 18,221 8,166
(C)=(A)-(B) 62,261 7,490 56,806
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(E) 64 2,179
(F)=(D)-(E) 64 2,179
(G)=(C)+(F) 62,325 7,490 54,627
(H) 1,259,849 1,197,524 1,205,014
()=(G)+(H) 1,197,524 1,205,014 1,259,641
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(K) 40,000 40,000 40,000
(L)=(J)+(K) 40,000 40,000 40,000
(M)=(G)+(J) 62,325 7,490 54,627
(N) 1,299,849 1,237,524 1,245,014
(O)=(M)+(N) 1,237,524 1,245,014 1,299,641
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908,820 907,646 916,299
116,458 125553 135,593
40,869 43397 42,241
106,140 104,137 110,486
1,810,389 1,947,363 1,988,644
459,407 576,796 553,410
428,875 548,731 530,056
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113458 125553 135,593
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1,197,524 1,205,014 1,259,641
792,362 782,093 780,706
1,237,524 1,245,014 1,299,641
1,810,389 1,947,363 1,988,644
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